A o: 67 cPETs

PET count
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o average of estimated gap size: 3556 bp
o median of estimated gap size: 3628 bp
t-test: p<10™®
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B a: 97 cPETs

o average of estimated gap size: 388 bp
o median of estimated gap size: 396 bp
t-test: p<10™®
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C a: 116 cPETs
o average of estimated gap size: 1082 bp
a median of estimated gap size: 1050 bp
t-test: p<10™*
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B: 203 cPETs

B average of estimated gap size: 67 bp
B median of estimated gap size: 45 bp
t-test: p=0.733
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B: 45 cPETs

B average of estimated gap size: -2263 bp
B median of estimated gap size: -2275 bp
t-test: p<10
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B: 98 cPETs

B average of estimated gap size: -652 bp
B median of estimated gap size: -653 bp
t-test: p<10?
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